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Consumer Behavior Theory 

 

(Cardinal Utility Approach) 
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Consumer Behaviour Theory

Assumptions)

 

 

 

 Cardinal Utility Approach؛ 

 Indifference Curves Approach؛ 

 Revealed preference Approach.
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Cardinal Utility Approach 

W.S Jevons18351882

A. Marshall 18421924 Jeremy Bentham   

Assumptions 

 Economic Rationality of Consumer

 Measured Utility 

Util،)

4

 Diminishing Marginal Utility 

 The Marginal Utility of Money is Constant 
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 Consumer’s Total Utility Function 

nx1,x2,…,xn

 

 nxxxfU ,........,, 21

(Alfred Marshall) 

)(........)()( 21 nxuxuxuU 

Consumer Equilibrium

Total Utility 

x 

(x)f  =U
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 MUxUx 

 MUxUx 

 MUxUx 
 

 Law of Diminishing Marginal Utility

 

 

 

 

 

 

01

x

R

MUx = Px

x=x

x
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𝑀𝑈𝑥

𝑃𝑥
= 1

MUx= Px  

 

 MUx > Px

x

 

 MUx< Px

x 

x 

 MUxالمنفعة الحدية  Uxالمنفعة الكلية  الكمية

1 10 10 

2 18 8 

3 24 6 

4 28 4 

5 30 2 

6 30 0 

7 28 2- 
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02 

10MUx=Ux = 10

 x  MUx  Ux  x = 6 

 MUx  Ux  MUx  وUx 

 * 

Max U= f(x) 

 

           R= xPx    ) 

𝑑𝑈

𝑑𝑥
−

𝑑𝑅

𝑑𝑥
= 0  

 𝑑𝑈

𝑑𝑥
=

𝑑𝑅

𝑑𝑥
 

𝑀𝑈𝑥 =  𝑃𝑥

*A. Koutsoyiannis (2014), Modern Microeconomics, Palgrave Macmillan, England, p15. 
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x 

U= -x² +24x +50 

xx
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𝑀𝑈𝑥 = 𝑃𝑥 =  −2𝑥 + 24 = 6  𝑥 = اتوحد  9 
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=185U = -(9)² +24(9) +50 
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Consumer Demand Curve 
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Exchange Process 
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Critiques of the Cardinal Utility Approach 

1

2

3


